
WP FURNITURE / INSTRUCTIONS
Model# 12_0019 (DW-11)

Need Assistance? - (908) 583-0420 - Text
email: lori@shopwp.com

HARDWARE LIST
QTY
(pcs)

A

B

C

D

E

F

G

H-1

I

Screw m4x 40mm

Screw m3.5 x 14mm

Screw m6x 30mm

Screw m6x 40mm

Allen Key

12

32

8

8

8

6

6

3

1

Page 1/15

Mini Fi

Mini Fi

H-1 Outer Slide

Adjustable footing

MADE IN CHINA

H-2 H-2 Inner Slide 3

J 1Phillips screwdriver



WP FURNITURE / INSTRUCTIONS
Model# 12_0019 (DW-11)

Need Assistance? - (973) 489-0210 - Text
email: lori@shopwp.com

A
40mm

B
14mm

E
30mm

F
40mm

Screw Reference Size. Page 2/15

Screw
m4 x 30mm

Screw
m6 x30mm

Screw
m3.5 x 14mm

Screw
m4x 40mm

Place your screw on top of the scale to identify their size.

MADE IN CHINA



DW-11

Parts List

6
5
4
3
2
1

7
8

10
9

1 pc
1 pc
1 pc
1 pc

1 pc
1 pc

1 pc

2 pcs
2 pcs

3 pcs

*EACH PART IS LABELLED ACCORDING TO THE PARTS LIST*

Before starting assembly
please verify if all parts and
hardware are included

13
12
11

14
15
16
17
18
19

3 pcs
2 pcs

1 pc
2 pcs

1 pc
1 pc
1 pc
1 pc
1 pc

Page 3/15

1

2

8

9

9

8

3 4

56

7

16

10

11

12

13

17

10
12

13

19

11

1810

11

14

15

 Bottom Cabinet
Top Cabinet

 Square metal frame
 Bottom Shelf
  Curved Metal

  Back Panel
  Curved Metal

  Cabinet Drawer Sides Outer
  Cabinet Drawer Sides Inner
   Drawer Sides Left

       Center Drawer Back

   Drawer Sides Right
   Left or Right Drawer Bottom
   Left or Right Drawer Back
   Center Drawer Bottom

       Center Leg

        Left Drawer Front
        Center Drawer Front
        Right Drawer Front

MADE IN CHINA

   Left Drawer

   Center Drawer

   Right Drawer



DW-11

Page 4/15

10

11

12

13

10
12

13 11

10

11

14

15

CENTER DRAWER
    BACK SIDE

 CENTER DRAWER
        BOTTOM

CENTER DRAWER
         FRONT

         LEFT
DRAWER FRONT

10

11

12

13

17

10
12

13

19

11

1810

11

14

15

LEFT OR RIGHTDRAWER BACK SIDE

        RIGHT
DRAWER FRONT

LEFT OR RIGHT
DRAWER BOTTOM

17

18

19



STEP 1

C Mini Fi 16 pcs
Page 5/15

2

1

C



STEP 2

B

C

D

H-1

Screw m3.5 x 14mm

Mini Fi

Mini Fi

12 pcs

8 pcs

3 pcs
Page 6/15

2

B

D
C

8

8

9

9

H

8 pcs

H-1 Outer Slide

H-1 H-2

H-1

(H-1 Outer Slide) (H-2 Inner Slide)

Please separate the two slide pieces
   (by pulling up the plastic lever)
    - Larger piece is for Cabinet
    -Smaller piece for Drawer



7

STEP 3

Page 7/15

Slide back #7 into slot.



STEP 4

Page 8/15

1

C

D

Mini Fi

Mini Fi

8 pcs

8 pcs

C

D



16

F

STEP 5

5

3

6

F 6 pcsScrew m6 x 40mm
Page 9/15



STEP 6

E 8 pcsScrew m6 x 30mm

E

Page 10/15



STEP 7

G 6 pcs

G

B

4

B 6 pcsScrew m3.5 x 14mm

Page 11/15



STEP 8

A

10
11

12

13

10

11
15

14

10
12

13
11

B

H-2

Screw m3.5 x 14mm 12 pcs

3 pcs
Page 12/15

H-2 Inner Slide

10

11

B
H-2

Left or Right Drawer Back Side

Left or Right Drawer Bottom

Center Drawer Back Side

Center Drawer Bottom

Left or Right Drawer Back Side

Left or Right Drawer Bottom

H-2

A Screw m3.5 x 40mm 12 pcs



STEP 9

18

17
C
D

18

19

C

D

Mini Fi

Mini Fi

12 pcs

12 pcs
Page 13/15

Left Drawer Front

Center Drawer Front

Right Drawer Front

Left Drawer

Center Drawer

Right Drawer

C

17

18

C

C



STEP 10

18

17

19

Page 14/15

   Left Drawer

   Center Drawer

   Right Drawer



THANK YOU

We hope you enjoy your new purchase.

We have personally inspected this product.

In the event that you need any additional help for any reason,

Please do not hesitate to contact us at: 973-437-5068

Email lori@shopwp.com

See our website wpfurniture.com

WP FURNITURE
323 Cortland Street

Belleville New Jersey

Thank you

Page 15/15


	8月31日鑫富成电视柜01
	8月31日鑫富成电视柜02
	8月31日鑫富成电视柜03
	8月31日鑫富成电视柜04
	8月31日鑫富成电视柜05
	8月31日鑫富成电视柜06
	8月31日鑫富成电视柜07
	8月31日鑫富成电视柜08
	8月31日鑫富成电视柜09
	8月31日鑫富成电视柜10
	8月31日鑫富成电视柜11
	8月31日鑫富成电视柜12
	8月31日鑫富成电视柜13
	8月31日鑫富成电视柜14
	8月31日鑫富成电视柜15

